
estr. ø 6 c/ 15cm

VIGA                                                                            VF2

Vigas= 2 cm

RECUBRIMIENTOS MÍNIMOS

3 ø 8

3 ø 8

4 Ø 8

estr. Ø6 c/ 15cm

profundidad 1.80 m

con bulbo inferior

PILOTÍN                                                                          PI

HORMIGÓN ARMADO

ek = 2400 kg/cm

' bk = 130 kg/cm

estr. ø 6 c/ 15cm

VIGA                                                                            VF1

Vigas= 2 cm

RECUBRIMIENTOS MÍNIMOS

2 ø 8

2 ø 8
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